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cmﬂunﬂ SECOND REVISION TEST - 2020

o N Standard X RegNo | | I o1l [
Time, 300 hours. 1 MATHEMATICS Marks 100
SR\ Part-1 .
|. Choose ""l:urm:t answer: 14xl=1
1. If tha'didered pairs (a+2, 4) and (3, 2a+b) are equal then (ab)is
a{2.-2) b) (5. 1) g) (2.3) d) (3,-2)

2 Let f(x)=v1+x? . then C

a) f(xy) = f(x) . f{y) b) ey = fpx)  fy) ©) Hxy) < ¥(x) . f(y)  d) none of these
The sum of the exponents of the prime factors in the prime faclonzation of 1729 is

3
a) 1 b) 2 c)3 d) 4
4. The average of lirst 100 natural numbers 1s a
a) 508 b) 505 c) 405 d) 40.6
5 If (x—6) is the HCF of x! = 2x = 24 and x? - kx - 6 then the value of k is
g) 3 b) 5 c)6 . d) 8
1 2
6. Which of the 'ﬂ-“ﬂﬁ"lng can be calculated frﬂn‘l-l_ﬁﬂ,giwn malrices A=|3 4).
w L 5 6
L'?"'x:\"'
123 - C -
B=|4 56  aoa @ E”Qﬂii‘fmﬁ (iv) BA
7829 . L;)
a) (i) and (i) only " b) (i) and (iii) only

3
c) (i) and (iv) only \*"“ d) all of these
7. In ALMN, 2L = 60°, 2M = 50°"If ALMN ~ APQR then the value of <R is

' a) 40° 4b) 70* c) 30° d) 110
8. The siope of the line which is perpendicular 1o a line joining the points (0, 0) and (-8, B) is
a) -1.7 b) 1 c) 3 d) -8
9. The point of intersectionof 3x-y=4andx+y=8is
@) (5.3 b) (2.4) - (3.3 d) (4, 4)
<, 10. (1 +tan0 + sec0) (1 + cotd - cosecl) is equal lo
0 b) 1 c) 2 d) -1

: al surface area of a cytﬂidqr whose radius is !4 of its height is

squnits b) 24zh?squnis c) % squnits d) 21 gq units,

buttle cock used for playing badminton has the shape of the combination n{::"
Levlinder and a sphere b) a hemisphere and-a cone o
. d) frustum of a cone and a hemigphere

‘sphere and a cane ,
imean and coefficient of variation of a data are 4 and B7.5% IEES% standard
ok Vv
b) 3 - c)45 d) 2.5
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14. The set of all possible outcomes is (2) ¥ Malhs
| a) sample space “""”Edh._ . .
E c) sample poinl u}; I:::::l::im experime
Pan. . .
1. Answer any 10 questions: : St 3 90

15 W f{(x) =4 + x g(x) =x-5, find fog.
16. Show that Ihe function f - N—sN defined by f(xy = 2x — 115 one-one but not onto.
17.01+2+3+ .. sk= =325, lhenfind 1"+ 2+ 3+ + Kk

L —1E . =il
1E FTHd TTTI

red "

19. Find the sum and product of the roots for 3+ 1 = =22 quadratic equation.

7 8 6 4 11 .3
A={1 3 8! B=(-1 2
200 I .
4 1 -1 7 5 «lhen find 2A + B.
21, Stale Menelaus Theorem. ' .

22. Find the slope of Ihe line which is paraHEI to3x-Ty= 11
23. Tnd the equation of a line whose inclinatioh is :]L'r' :nd making an intercept -3 on the
-axis.
24. Find the angle of elevation of the top of a Qver hum a point on the ground, which is 30
~m away from the foat of a lower of he:-ght m,ﬁ m '
25. The curved surface area of a right circular cylinder of height 14 ¢m is 88 em?, Find 1he
Diameter of the cylinder. N
26. A metallic sphere of radius J6.cm 1s melted and recas! inlo small spheres each of
radius 2 cm. How many small spheres can be ocblained? :
27. The mean of adala s 25 E and its coefficient of variation is 18.75. Find the standard
deviation. ®
2B. Write the sample space lor lossing three coins using tree diagram.
' ) Part - il '
wer any 10 questions: : 10x5=50
ctionf: [-5, 9] -» R is defined as follows:

6x+1 5<x<2 \
={5x?-1 2<x<6 fing 2-2-16)
3x-4 6Becx<g ' a2y

be a function = N-yN be defined by f(x) = Ix+ 2 xeN

\d tRe images 0f 1,23 i) Find the pre-images of 29, 53

nlify the type of function

: LEM and HCF of 408 and 170 by applying the fundaméntal theorem of arthmetic,

ILII'TI [l-h ..u @-h T rereeess
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! - () | X Malhll
3. If the roots of thg equation (¢* — ablx? - 2(a? - bc) x + b? - ac = 0 are real and equa
? prove that eghe? a =0 (or) @+ b7+ ¢7 = 3ab
Y

: 102 o (-2 5] c=[1 1] et AB+ C) A ¢ A
<7y "ih{“‘? J'E_[E 7 and 5 3 Verily that A(

‘ .
35 State and prove Alternate segment theorem. | -
36 F'r-uvt analyticaly that the line gegment joining the mid-paints of two sides of a triangle

is parallel to the third side and Is equal 10 half of i.t' length. |
f the points P(=1.—4). Q(b.c) and R(5,~1) are collinear and if 2b + ¢ =4, hen find the

-
-
(]

37
valuesof bandc

1g. Two ships aré sailing in the sea on eilher sides of a lighthouse. The angle of elevation’
| of the lop of the lighthouse as observed frcmn the ships are 30° and 45° m‘speuiuely. If
- |he lighthouse is 200 m high. find the distance batween the two ships.

1g_ If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 cm.

find the volume of the frustum. .
-.'\. " "
40. If the volume of a hollow sphere is 11352 cm?'and outer radius is B cm. Find inner
L-""-.,__h"
radius of the sphere. [z = %) C. W

41 ‘The marks scored by 10 sludentsina _da;ﬂéit are 25, 29, 30, 33, 35, 37, 38, 40, 44,
48. Find the standard deviation, (~ , _ _
42. I A.B.C are any three events such that probability of B is twice as thal of probability of

Aand probability of C is thrice as that of probabity of Aandif P(A~B) = 1 P(BAC)=1.
{ Y N
‘un 154

g Part-IV
IV. Answer both the questions choosing either of the alternative: 21B=16

PIANC) =1, PAGBLC) =&, PIANBAC) =35, tien find P(A), P(B) and P(C)?

43. a) Construct a triangle similar to a given triangle ABC with its sides equal to $ of the

. corresponding sides of the triangle ABC. (Scale factor ) -
(or)

raw a circle of radius 4 cm. At a point L on it draw a tangent lo the circle using the

grmale segment ’
the nature of solutions of the quadratic equation x* + 2x-12=0 ﬂ‘:@

‘ : rurj [ %+-
the graph of y = x* = 5x — 6 and hence solve x* - 5x-14=0 G"“‘

. )
o
" ::':‘T

' <
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